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XEm)| REmMIES| HE [FS] HF [BSHE RNE |[BS[HE WS |BS| HE |BS| HE |BS| HE |BS| HE
EHH FE Feh)Il | £8 [Femzsoss [79.00 558 | 57,384 B B
pSadit) FE Fah)Il | 25 [meFwnmr@m® [79.00+350m 350 | 57,734 |218| B B
E3 a4t FR Feh)Il | EF 79.00+583 236 | 57,970 B B [#uman B |&:& 220|—B
EHm | FE | FéIl [ &= 79.00+753 146 | 58,116 B [mmam B |&i& B
p3adin) FE Tl | EF |BIEHR 79.00+753 66 | 58,182
&M FE Fal)ll | £ | FahIEEE) ]79.50 156 | 58,338 B 221 B |®ik B
&N FR FehIl | EF 80.00 518 | 58,856 B B |&&
EHFM | FE | T | EF 80.50 411 [ 59,267 B B |&i&
E3 o4l FR Fel)I | EF 81.00 569 | 59,836 B B |&&
P aditl FE Tl | 5 [EHKEE  ]81.00+250m 250 | 60,086 B B |Rik
E3 a4t FR Feh)Il | EF |RES 81.50 203 | 60,289 B B |
Fahth FE Tl | £ [fREUEkHEE 182.00 487 | 60,776 B B |k
T FR Feh)Il | 5 | T 82.50 539 | 61,315 B B |
Fafin FE Fal | EF 82.50+145 145 | 61,460 B 233 B [E%
T FR Feh)Il | 25 | TFeh)IihAE ]82.50+450 308 | 61,768 B B |k
Fafin FE Tl | & | Fah)il#h AR |82.50+560 112 | 61,880 B |234] B
Tt FE Fah)ll | £F [EFIER 83.00 0[61,880]223| B
Fafin FE Fah)Il | & | Fah)il#ih A6 |83.00+65 64 | 61,944 B
T FR Feh)Il | 25 [ Feh)IiHh A E ]83.00+125 60 | 62,004 B |241| B | 243] A |wermi| 242| B |&EE
Fafin FE Fal)ll | 2 |=)I4EM 83.00+255 130 | 62,134 B
T FR FehIl | EF 83.50 335 | 62,469 B B B [Hsrsms EREZS
Fahth FE Fell | &8 83.504+495m 495 | 62,964 B B B [mis7mm B [E%
T FR FehIl | EF 83.50+573m 78 | 63,042 B B |243| B |merm|243| B |Zik
Fafin FE Fal | BEF 84.00 69 | 63,111 B |, B -2 | B [wsrma| -2 | B [Ei%
Fehih FR Fei)Il | EF 84.00+175 175 | 63,286 B B B [Herma B |E%
Fafin FE Fal | EF 84.00+300 125 | 63,411 B B B [mis7mam B [E%
Tt FE Fea)ll | &5 |FE 84.00+350 50 | 63,461 B B
Fafin FE Fal | BEF 84.00+1120 817 [ 64,278 B B
Tt FE Tl | £F |EHE 84.50-173 0 [ 64,278
Fahth FE Fell | &8 84.50-118 57 | 64,335 B B [E%
T FR FehIl | EF 84.50-68 50 | 64,385 247|_B B |
Fahth FE FeIl | 8 84.50 68 | 64,453 B B [E%
T FR Feh)Il | EF 84.50+75 75 | 64,528 B B |
Fafin FE Fal | BEF 84.50+265 190 [ 64,718 245 B [E%
T FR FehIl | EF 85.00 238 | 64,956 B B |
Fafin FE Fal | EF 85.00+345 346 | 65,302 B B [E%
Tt FE Fal | EF 85.00+512 169 | 65,471 B B [m%
Fahth FE FeIl | 8 85.50 10 | 65481 B B [E%
T FR FehIl | EF 85.50+430 422 | 65,903 B B |
Fafin FE Fl)ll | £ [HRIIEHR 85.50+430 0 | 65903 249
Tt FE Fal | EF 86.00 124 | 66,027 B
Fafin FE Fal | BEF 86.00+15 15 | 66,042 B
Tt FE Fal | EF 86.00+90m 75 | 66,117 B
Fafin FE Fal | EF 86.00+235 146 | 66,263 B
Tt FE Fal | BEF 86.00+355 120 | 66,383 B
Fafin FE Fal | BEF 86.00+455 100 | 66,483 B
Fehih FR Feh)Il | EF |BEB 86.00+475 20 | 66,503 g5q A Jrer=a] 1 B =ik
Fahth FE Fell | &8 86.50 55 | 66,558 B A |nisrmas B [E%
Tt FE Fal | BEF 87.00 539 | 67,097 |254| B B |,q5| B [
Fafin FE Fal | EF 87.00+250m 250 | 67,347 9538 B s
Tt FE Fal | BEF 87.50 267 | 67,614 B
Fafin FE Tl | BF 88.00 389 | 68,003 B
Tt FE Fal | BEF 88.00+80 79 | 68,082 B
Fafin FE Fal | EF 88.00+110 30 | 68,112
Tt FE Fal | EF 88.50 337 | 68,449 256 | B
Fafin FE Fal | EF 88.50+125 126 | 68,575 B
Tt FE Fe)ll | £F | KERE 88.50+345 227 | 68,802
Fafin FE Tl | BF 89.00 153 | 68,955
Tt FE Fal | EF 89.00+335 334 [ 69289]269] B |270] B
Fafin FE Fal | EF 89.00+425 92 | 69,381
Tt FE Fal | EF 89.50 89 | 69,470 B
Fafin FE Fal)ll | EF 89.50+220m 220 | 69,690 2711 B
Tt FE Fal | EF 89.50+270 5169741273 B B
Fafin FE Fl)ll | £F | BER 89.50+300m 30 | 69,771
Tt FE Fal | EF 90.00 207 | 69,978 B |#man
Fafin FE Tl | BF 90.00+455 456 | 70434 | B 979 |B_|BHE
Tt FE Fal | EF 90.00+555 96 | 70,530 B [281] B B [##s
Fafin FE Tl | BF 90.50 76 | 70,606 B
Tt FE Fal | EF 90.50+85 85 | 70,691
Fafin FE Fal | EF 90.50+97 11| 70,702
Fai | FR | T | £F [ZRIIEHR 90.50+345 0| 70,702
Fafin FE Tl | BF 91.00 456 | 71,158 B
Tt FE Fal | BEF 91.50 410 | 71,568 282| B
Fafin FE Fal | EF 91.50+250 251 [ 71,819 B
Tt FE Fal | BEF 91.50+280 30 | 71,849
Fafin FE Fahl | &7 |FE 92.00 263 | 72,112 B
Tt FE Fal | EF 92.00+145 147 | 72,259 B
Fafin FE Fal)ll | EF 92.00+205 61 | 72,320 B [289] B
F et FE Fal | BEF 92.50 361 | 72,681 |290| B B
SR AT FE Fal | BEF 92.50+120 120 | 72,801 B B
SR ET FE Fal | BEF 92.50+220 139 | 72,940
SR AT FE Fil)ll | £ |EHER 92.50+220 0| 72,940
SR ET FE Fal | BEF 93.00 228 | 73,168 vos LB B |m#smi
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I REm)| REmIES| HF (BS| HFE |BS|HE RNE |BSHFE NE (S| HF (S| HE |BS) HFE (S| HF
RET | Fa | FehIl | £F (B 93.00+75 75 | 73,243 = B B [#mai
SR ET FE Fal | BEF 93.00+590 565 | 73,808 B |m#smi
IRWET | FAE | FHI | X5 [SHE 93.00+590 0 | 73,3808
IR AT FE Fal)ll | £F [REKE 93.50 45 | 73,853 203] A B
IRET | FAE | FHI | EE 93.50+300 298 | 74,151 B
SR ET FE Fal | EF 94.00 65 | 74,216 300 B B
IRET | FAE | FHI | EE 94.00+115 115 | 74,331 B B
SR ET FE Fal | BEF 94.00+325 210 | 74,541 292 B
IRET | FE | FHI | EE 94.50 125 | 74,666 301 B B
SR ET FE Fal | BEF 94.50+105 105 | 74,771 B B A
IRWET | FAE | FeI | B8 [(KER 94.50+155 50 | 74,821 B 302 A
SR ET FE Fal | BEF 95.00 311 | 75,132 B B A
IRET | FAE | FHI | EE 95.00+250 250 | 75,382 303| B B A
SR ET FE Fal | BEF 95.00+321 70 | 75,452 B B
IRET | FE | FHI | X 95.00+481 161 | 75,613 B
SR ET FE Fal | BEF 95.00+627 146 | 75,759 B
IRWET | FAE | FHI | B [SHE 95.50-100 0| 75,759
SR ET FE Fal | EF 95.50 100 | 75,859 312—8 | 315l B
IRET | FAE | FHI | X 95.50+395 356 | 76,215 B B
AT | FR | T | £F |EHE 95.50+445 076215
IRET | FAE | FHI | EE 95.50+505 60 | 76,275 B B B
SR ET FE Fal | BEF 96.00 51| 76,326 B |45|_B B
IRET | FE | FHI | X 96.00+35 35]76361],.,1 B B B
SR ET FE Fal | BEF 96.00+85 50 | 76,411 B B B
IRET | FAE | FHI | X 96.50 478 | 76,889 B |4, A B
IR AT FE Fal | EF 96.50+65 65 | 76,954 B A B
IRET | FE | FHI | X 96.50+235 170 | 77,124 B |316] B
SR ET FE Fal | EF 97.00 258 | 77,382 18| —B B
IRET | FAE | FHI | X 97.00+225 225 | 77,607 B B
SR ET FE Fal | BEF 97.00+275 50 | 77,657 B B
IRET | FAE | FEI | EE (B4 97.00+405 130 [ 77,787 B
SR ET FE Fal | EF 97.50 147 | 77,934 B
IRET | FAE | FHI | X 97.50+250m 250 | 78,184 B
AT FE Fal | EF 98.00 244 | 78,428 320 |—B
t@AT | FE | FH#I [ EF 98.00+431 518 | 78,946 B
EHAH FE Fal | BEF 98.00+534 103 | 79,049
tEHM | FE | Tl | EF 98.50 0 | 79,049
AT FE Fal | BEF 99.00 606 | 79,655
tEHM | FE | Tl | EF 99.50 524 | 80,179
EHAH FE Fal | BEF 99.50+188 188 | 80,367
t@AT | FE | F#I [ EF 99.50+463 275 | 80,642
AT FE Fah)ll | £F [EFIIER 99.50+491 0 | 80,642
t@AT | FE | FH#I [ EF 99.50+581 3780679329 A [330[ A
LHET FE Fal | BEF 99.50+601 20| 80,699 |331| B [332] B
tEHM | FE | Tl | EF 100.00 11| 80,710
EHAH FE Fal | EF 100.00+105 105 | 80,815
t@AT | FE | F#I [ EF 100.00+305 200 | 81,015
AT FE Fea)ll | &5 | EEAXE 100.50 140 | 81,155
t@AT | FE | FH#I [ EF 100.50+360m 360 [ 81515 334 B
EHAH FE Fal | EF 100.5+450 90 | 81,605
tEHM | FE | Tl | &% |E#E 100.5+450 0 | 81,605
AT FE Fal | EF 101.00 147 | 81,752
tEHM | FE | Tl | EF 101.50 566 | 82,318
AT FE Fal | EF 102.00 347 | 82,665
t@AT | FE | F#I [ EF 102.00+45 45 | 82,710
AT FE Fal | EF 102.00+95 50 | 82,760 342 B
tEHM | FE | T | &% &8 102.00+355 267 | 83,027
AT FE Fel | EF 102.50 158 | 83,185 43| B
t@AT | FE | FH#I [ EF 102.50+80 79 | 83,264 B
EHAH FE Fal | BEF 102.50+130 65 | 83,329
t@AT | FE | FH#I [ EF 102.50+233 103 | 83,432
AT FE Tl | &5 |EHE 103.00-445 0| 83432
Fa | Tl | &% 103.00-190 299 [ 83,731
AT FE Fal | BEF 103.00 132 | 83,863 347] B
t@AT | FE | FH#I [ EF 103.00+225 224 | 84,087
EHAH FE Fal | EF 103.00+345 120 | 84,207 348 B
tEHM | FE | Tl | EF 103.50 138 | 84,345
LHET FE Feh)ll | &% | LB 103.50+20m 20 | 84,365 A
tEM | FAE | Fi | E£F |[FesR @i ]103.50+285 265 | 84,630 3492
AT FE Fal | EF 103.50+365 80 | 84,710 350 B A
tEHM | FE | Tl | EF 104.00 109 | 84,819 A
AT FE Fal | EF 104.50 524 | 85,343
t@AT | FE | FH#I [ EF 104.50+160 149 | 85,492
AT FE Tl | £F |REFE 104.50+277 119 ]| 85611 |360] B A
t@AT | FE | FH#I [ EF 104.50+656 381 [ 85992 ]361| A A B |&i&
AT FE Tl | &5 |EHE 105.00-121 0| 85992
tEHM | FE | Tl | EF 105.00 121 | 86,113 362 A B |ki%
LHET FR Feh)Il | EF 105.00+50m 50 | 86,163 A B |&:&
tEHM | FE | Tl | EF 105.00+60m 10 | 86,173 A B |®ik A
EAH FE Tl | EF 105.00+80 20 | 86,193 364
tEHM | FE | Tl | EF 105.00+150 70 | 86,263 | 365 A A B |®ik A
LHET FR Fei)I | EF 105.00+200m 50 | 86,313 B B 363 B |F&
tEHM | FE | T | EF 105.00+335 153 | 86,466 | 366
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- Rim)| REmIE S| ¥IF [F5) HF | FSHE NS |BSHE NE S| HF [(F5) HFE |ES| HE |BS| HF
tE™m | FE | T | &R 105.00+445 101 | 86,567 B [367] B B |&ik B
AT FE Fal | BEF 105.50 19 | 86,586 B B |&i% B
tEHM | FE | FI | EF /MUE 105.50+165 165 | 86,751 B B [&i% [368] B
AT FE Fal | EF 106.00 309 | 87,060 B |&i% B
tEH™M | FE | T | &R 106.00+80m 80 | 87,140 B |&i& B
EHAH FE Fal | EF 106.00+280m 200 | 87,340 B &%
t@AT | FE | F#I [ EF 106.00+360 62 | 87,402
t@Am | Fa | Fé | £F [sreumzaen [106.50 230 | 87,632
tEHM | FE | Tl | EF 107.00 500 | 88,132
AT FE Fal | BEF 107.50 499 | 88,631
tEHM | FE | Tl | EF 108.00 495 | 89,126
AT FE Fal | BEF 108.50 577 | 89,703
t@AT | FE | F#I [ EF 108.50+203 204 | 89,907
EHAH FE Fea)l | &5 KBNS 109.00 0] 89,907
tEHM | FE | Tl | BF | XAE 109.50 357 | 90,264
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_ REm| REmIES| HE |BS| HE |BS\HE RNE |BSHF NE (S| HF (S| HE |BS) HFE (5] HF
Falin FE Tl | BE 78.50+95 90 [ 59,678 B 213| B
Tt FE Faal | BE 78.50+165 75 | 59,753 B |217] B |®|B
Fafin FE Fal | BE 78.50+250m 85 | 59,838 B #E[ B
Tt FE Feh)ll | B8 |Fenmesomn |78.50+415 164 | 60,002 B B (&%
TFehh FE Tl | BE 79.00 36 | 60,038 B |, B B |k
Tt FE Fal | BE 79.00+25 24 | 60,062 B B B [m%
Fafin FRE Fal | BE 79.00+45 20 | 60,082 B 227 B |k
T FR Feh)I | BFE 79.00+165 122 | 60,204 B |226] B B |
Fahth FE Fah)il | B [seFemme@sw |79.50 15[ 60319), | B B |E&
Tt FE Fea)ll | BE | TG (ER) |79.50+250m 250 | 60,569 B B =%
Fafin FE Tl | BF 79.50+315 56 | 60,625 B
Tt FE Fal | BE 80.00 167 | 60,792 B |,s| B
Fafin FE Fal | BE 80.00+175 178 | 60,970 B B
Tt FE Faal | BE 80.50 450 | 61,420 B
Fafin FE Fal | BE 80.50+20m 20 | 61,440 B
Tt FE Faal | BE 81.00 433 | 61,873 B B |ssmm B [m%
Fahth FE FeIl | BE 81.50 534 | 62,407 B B |s#mim B [E%
Tt FE Tl | HF |RIER 81.50+25 25 | 62,432 B B |maa|, 0| B ES
81.50+125 100 | 62,532
Tt FE Fal | BE 82.00 391 | 62,923 B B [m%
TFehh FE Tl | BE 82.00+50m 50 | 62,973 B B |k
Tt FE Tl | HF | TeE 82.50 492 | 63465 B
Fafin FE Tl | BF 82.50+385 384 | 63,849 B B
Tt FE Faal | BE 83.00 14 | 63863]231| B 935 B B
Fafin FE Fal | BE 83.00+225 225 | 64,088 B B B
Tt FE Faal | BE 83.00+1000 1049 | 65137236 A [237] A B
Fafin FE Fal | BE 83.00+1332 199 | 65,336 230
FE Fal | BE 83.00+1832 500 | 65,836
Fafin FE Tl | BF |EHE 83.50-83 0 | 65,3836
Tt FE Faal | BE 83.50 82 | 65,918 B B
Fafin FE Tl | BF 84.00 411 [ 66329]238] B |239] B
Tt FE Fal | BE 84.00+275 275 | 66,604 B B
Fafin FE Fal)ll | 7% |FHE 84.00+400m 125 | 66,729
Tt FE Faal | BE 84.50 146 | 66,875 B [m%
TFeh FE Tl | BE 85.00 482 | 67,357 B |k
T FR Feh)I | BFE 85.50 471 | 67,828 B |
TFeh FE Tl | BE 86.00 472 | 68,300 B |k
Tt FE Tl | BF |EEE 86.50 437 | 68,737 B [m%
TFeh FE Tl | BE 86.50+125 125 | 68,862 B |k
T FR Feh)I | BFE 87.00 365 | 69,227 B B |
TFeh FE Tl | BE 87.00+190m 190 | 69,417 B B |k 2552 B
T FR Feh)I | BFE 87.00+330m 140 | 69,557 258 B B | B
TFeh FE Tl | BF [ KAKFHAR  ]87.50 132 | 69,689 B B |k
Tt FE Fe)ll | BF | KRR AE  |87.50+65 65 | 69,754 B B =%
TFeh FE Fih)Il | BF [ KAEGHAE  ]87.50+95 30 | 69,784 B &
Tt FE Faa)ll | B | KAEKHAE  |87.50+135 40 | 69,824 259 B B [m%
TFeh FE Fah)Il | BR[| KAEGAE  ]87.50+285 154 | 69,978 B &
Tt FE Faa)ll | B | KAEKHAE  |87.50+325 42| 70,020 260] B B [m%
TFeh FE Fah)Il | BF [ KAEGEHAE  [87.50+470m 145 | 70,165 B &
Tt FE Fal)ll | fHF | KA AR ]87.50+545 69 | 70,234 B EREESS
TFeh FE Tl | BF [KA#KFHARE  ]88.00 89 | 70,323 262 B B B |&k-Z&
Tt FE Fal)ll | fF | KA AR ]88.00+150 150 | 70,473 B B EREESS
TFeh FE Fah)Il | BR[| KAEGHAE  ]88.00+180 30 | 70,503 B B |&k-ZE&
Tt FE Fal)ll | fHF | KA AE  ]88.00+575 397 | 70,900 263| B B EREESS
TFeh FE Tl | BF [ KA#HFHARE 18850 24| 70,924 261 B B |&k-Z&
T FR Feh)Il | BFE 88.50+15 15 | 70,939 B B |®-ZE =
TFeh FE Tl | BE 88.50+215m 200 | 71,139 B B [®-=:f265] B =
Tt FE Fal | BE 88.50+285 70 | 71,209 266] B B EREESS 264 =
Fahth FE Tl | B 88.50+310m 25| 71,234 B B |&k-ZE& =
Fehih FR Feh)Il | BR[| KEHS 88.50+400m 90 | 71,324 B B |- = B =
Fahth FE FeIl | BE 89.00 75 | 71,399 B [E% 268 B 3
Tt FE Fal | BE 89.00+15 15 | 71,414 B [m% B
TFeh FE Tl | BE 89.00+100m 100 | 71,514 9748 B |k B
Tt FE Fal | BE 89.00+495 371 | 71,885 B B [m%
Fahth FE FeIl | BE 89.50 15 | 71,900 B [E%
T FR Feh)I | BFE 89.50+15 14| 71914 B |
Fafin FE Fal | BE 89.50+215 200| 72114], | B [276] B B [E%
Tt FE Fal | BE 89.50+275 60 | 72,174 B B [m%
TFeh FE Tl | BF | FES 89.50+385 110 | 72,284 B |k
Tt FE Fal | BE 90.00 169 | 72,453 B [m%
TFeh FE Tl | BE 90.00+150m 150 | 72,603 B |k
T FR Feh)I | BFE 90.00+420m 270 | 72,873 B |
Fahth FE FeIl | BE 90.50 25 | 72,898 B [E%
T FR Feh)I | BFE 90.50+230m 230 | 73,128 B |
Fafin FE Fal | BE 90.50+290m 60 | 73,188
Tt FE Fal | BE 91.00 125 | 73,313
SR AT FE Tl | BF 91.00+135 136 | 73,449
SR ET FE Fal | BE 91.00+325 185 | 73634 ]283] A |284| A
SR AT FE Fal | BE 91.00+375 47[ 73681 ]285| B B
SR ET FE Faal | BE 91.50 240 | 73,921 B
SR AT FE Tl | BF 91.50+175 170 | 74,091 286 B
SR ET FE Faal | BE 91.50+343 143 | 74,234 B
SR AT FE Fahl | AR |FE 92.00 131 | 74,365 B B
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- REm)| REmIES| HFE (BS| HE |BSHE RNE |BSHFE NE (S| HF (S| HE |BS) HFE (S| HF
AT | Fa | Tl [ BE 92.00+200 202 [ 74567287 B B
SR ET FE Faal | BE 92.00+210 10 | 74,577 B
IRET | FAE | FHI | BE 92.00+250 32 | 74,609
IR AT FE Faal | BE 92.50 217 | 74,826
IRMET | FAE | FHI | BE 92.50+275 257 | 75,083
SR ET FE Fal | BE 93.00 273 | 75,356 288 | B B
IRMET | FAE | FHI | BE 93.00+15 15 | 75,371 B B
SR ET FE Faal | BE 93.00+95 80 | 75,451 B
IRWET | FAE | FehI | BE [BEE 93.00+125 30| 75481 ]295( B [296[ B B
SR ET FE Faal | BE 93.00+205 80 | 75,561 B
IRET | FAE | FHI | BE 93.00+345 140 [ 75,701 297 B B
SR ET FE Fal | BE 93.00+395 50 | 75,751 B
IRMET | FAE | FHI | BE 93.00+455 60 | 75,811 B
SR ET FE Tl | HF [REKE 93.50 102 | 75,913 208 B B
IRET | FE | FHI | BE 93.50+215 216 | 76,129 B
SR ET FE Faal | BE 93.50+705 482 | 76,611 299| B B
IRET | FAE | FHI | BE 94.00 24 | 76,635 B
SR ET FE Faal | BE 94.00+25 26 | 76,661 B
IRIBET | FAE | FHI | B [HENESR 94.00+105 8176742304 A [305[ A B
SR ET FE Fal | BE 94.00+195 90 | 76,832 ]306| B [307] B B
IRWET | FAE | FeI | B [(KER 94.50 295 | 77,127 B
SR ET FE Faal | BE 95.00 574 | 77,701 B
IRET | FE | FHI | BE 95.00+250m 250 | 77,951 B
SR ET FE Faal | BE 95.50 148 | 78,099 B EREZS
IRET | FAE | FHI | BE 95.50+44 43 ] 78,142 B B [E%
IR AT FE Faal | BE 95.50+354 309 | 78,451 309 B B EREZS
IRET | FE | FHI | BE 96.00 109 [ 78,560 B B |E%
SR ET FE Fal | BE 96.50 463 | 79,023 B B EREZS
IRET | FAE | FHI | BE 97.00 458 | 79,481 3108 B B |Rik
SR ET FE Faal | BE 97.00+235 235 | 79,716 B |294| B ERESS
IRET | FE | FHI | BE 97.00+285 50 | 79,766 B B B |®ik
SR ET FE Tl | HF BB 97.00+395 110 | 79,876 B B &%
IRET | FAE | FHI | BE 97.50 126 | 80,002 3208 B B |Rik
SR ET FE Faal | BE 97.50+350 350 | 803521 ... | B B B ERESS
IRET | FE | FHI | BE 98.00 117 | 80,469 B B B |®ik
SR ET FE Faal | BE 98.00+80 78 | 80,547 B ERESS
tEHM | FE | T | A 98.50 590 | 81,137 B B |Rik
AT FE Fal | BE 99.00 487 | 81,624 B B &%
tEHM | FE | T | A 99.00+148 148 | 81,772 B B |®ik
AT FE Faal | BE 99.00+225 77 | 81,849 B
tEHM | FE | T | AF |EHE 99.50-280m 0| 81,849
AT FE Fal | BE 99.50-260 122 | 81,971 B |s5[ B B
tEHM | FE | T | A 99.50-55 194 | 82,165 |324| B B B
AT FE Faal | BE 99.50 55 | 82,220 B B
tEHM | FE | T | A 99.50+255 254 | 82,474 B
LHET FE Fal | BE 99.50+320m 65 | 82,539 B
tEHM | FE | T | A 99.50+405 84 | 82,623 326 B B
LHET FE Tl | HF 99.50+410m 5| 82,628 B 3261 B
tEHM | FE | T | A 100.00 38 | 82,666 B
AT FE Fal | BE 100.00+125 124 | 82,790 327] B B A
tEHM | FE | T | AF | FEXE 100.50 442 | 83232 B A
LHET FE Tl | HF 100.50+315 315 | 83,547 B 328 A
tEHM | FE | T | A 100.50+415 100 | 83,647 B B A
EHAH FE Fal | BE 100.50+440m 25| 83672], .1 B [335| B B A
tEHM | FE | T | A 100.50+490 50 | 83,722 B B
LHET FE Faal | BE 100.50+590 100 | 83822 1338] A [337] A
tEHM | FE | T | AF |[EHE 101.00-191 0 | 83822
AT FE Fal | BE 101.00 191 | 84,013
tEHM | FE | T | A 101.50 484 | 84,497
EHAH FE Fal | BE 101.50+210m 210 | 84,707
tEHM | FE | T | A 101.50+230 20 | 84,727 A
AT FE Fal | BE 101.50+260 30 | 84,757 340 B A
tEHM | FE | FI | A2 [RHERIIEHR ]101.50+260 0 | 84,757 339
AT FE Fal | BE 101.50+310m 50 | 84,807 A
tEHM | FE | T | A 102.00 256 | 85,063
AT FE Tl | BF [EFHE 102.00+250m 250 | 85313
tEHM | FE | T | A 102.00+305 55 | 85,368
EHAH FE Fal | BE 102.00+395 90 | 85,458
tEHM | FE | T | A 102.00+425 30 | 85,488
AT FE Fal | BE 102.50 58 | 85,546 B
tEHM | FE | T | A 102.50+95 95 | 85,641 345 B
AT FE Fal | BE 102.50+135 39 | 85,680 B
tEHM | FE | T | A 102.50+144m 9 | 85,689 B
EHAH FE Fal | BE 102.50+250m 106 | 85,795
tEHM | FE | T | A 102.50+505 254 | 86,049
AT FE Fal | BE 103.00 40 | 86,089
tEHM | FE | T | A 103.50 461 | 86,550
LHET FE Feu)ll | BF | LEB 103.50+30m 30 | 86,580
tEHM | FE | T | AF 103.50+235 205 | 86,785
LtHM | FAE | T | BF |[FeER e ]103.50+265 30 | 86,815
tEHM | FE | T | AF 103.50+281m 16 | 86,831
LHET FR Feh)I | BFE 103.50+315 34 | 86,865 =
tEHM | FE | T | AF 103.50+365 50 | 86,915 =
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- REm)| REmIES| HF (BES| HFE |BSHFE NE |BSHFE NE (S| HF (S| HE |BS| HFE (5| HF
@M | F2 | Fill | A 104.00 162 | 87,077 =
LHEH FR Feh)I | BFE 104.00+75 75 | 87,152 356| =
tEHM | FE | T | A 104.00+115 40 | 87,192 =
LHEH FR Feh)Il | BFE 104.00+395 281 | 87,473 =
tEHM | FE | T | AF 104.50 61| 87,534 =
AT FE Tl | BF |[REFE 104.50+235 234 | 87,768
tEHM | FE | F#I | AF 105.00 267 | 88,035
AT FE Faal | BE 105.50 526 | 88,561
tEHM | FE | F#I | AF B 105.50+385 386 | 88,947
AT FE Faal | BE 106.00 162 | 89,109
tEHM | FE | T | A 106.00+205 205 | 89,314
LHET FE Fal | BE 106.00+475 245 89559 |369| B [370] A
tH™M | FA | T | AF [EFaumeess [106.50 19 | 89,578 3711 B
LHET FE Faal | BE 106.50+415 415 | 89,993 B
tEHM | FE | T | A 106.50+485 66 | 90,059 B |3713] B
AT FE Tl | HF 107.00 21| 90080372 B A
tEHM | FE | T | A 107.00+125m 125 | 90,205 B |375] A
LHET FE Tl | HF 107.00+327 188 | 90,393 B A 3752 B
tEHM | FE | F#I | AF [#IIEHR 107.00+403 0 | 90,393
AT FE Fal | BE 107.50 110} 90503376] A |...| B
tEHM | FE | Tl | A 107.50+312 312 [ 90815 B
AT FE Faal | BE 108.00 159 | 90,974
tEHM | FE | T | A 108.00+253 257 | 91,231
AT FE Tl | BF [BRINER 108.00+253 0| 91,231
tEHM | FE | T | A 108.50 274 | 91505 | B
LHET FE Faal | BE 108.50+305 304 | 91,809 B
tEHM | FE | T | HF | XEE 109.00 146 | 91,955 A
LHET FE Tl | HF 109.00+250m 250 | 92205381 A
tEHM | FE | T | A 109.00+338 86 | 92,291 A B
+HAH FE Fa)Il | BE 109.50 119 | 92,410 82—




